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nrtkJh bhjK (fbysh gqhfynk) 

 

1a gqÙB gZso fszB GkrK (Gkr T, Gkr n ns/ Gkr J) ftZu tzfvnk j't/rk. 

2a Gkr T  ftZu gqÙB Bz 1 s'A 3 sZe j'Dr/ 

i. gqÙB 1 ftZu  6 gqÙB (T[g Gkr) pj[-ftebgh  T[ZsoK tkb/ 1-1 nze tkb/ j'Dr/ . 
ii. gqÙB 2 ftZu  6 gqÙB (T[g Gkr) ykbh EktK Go' tkb/  1-1 nze tkb/ j'Dr/ . 

iii. gqÙB 3 ftZu  6 gqÙB (T[g Gkr) ;jh/  rbs iK g{o/ o{g iK ÙkoNeZN ehn÷  tkb/ 

1-1 nze tkb/ j'Dr/ . 
3 Gkr n ftZu gqÙB Bzpo 4 s'A 8 sZe 4-4 nzeK d/ 5 gqÙB j'Dr/, fi; ftZu d' gqÙB ftZu 

nzdo{Bh S'N j't/rh . 

4a Gkr J ftZu gqÙB Bzpo  9 s'A 10 sZe 6-6 nzeK d/ 2 gqÙB j'Dr/, fiBQK ftZu nzdo{Bh   

 

Bwg –a 
gqPB 1H fJBQK gqPBK ftZu'A e'Jh fJZe nkgPB u[D e/ T[Zso fdU.      6 X 1 = 6 

(i) hr stirMg (string) dI smwpqI _____ nwl hoxI  cwhIdI hY? 
       a) kyjr vwpsI icnH     A) nvIN ryKw icnH   
       e) KwlI icnH            s) lweInPIf icnH       1 

(ii) eI-gvrnYNs dw pRXOg ikhVy KyqrW iv`c huMdw hY? 
       a) qyz rPqwr          A) Awswn pRbMD   
       e) G`t Krc             s) auprokq swry                       1 

(iii) ieMtrnY`t qy phuMc krn leI pI.sI qy lgwieAw jwx vwlw swPtvyAr kI huMdw hY? 
         a) WWW       A) TCP/IP  
        e) Browser           s) URL               1  

(iv) spilt (Split) AwpSn dI vrqoN AwfIE jW vIifE nUM _____ krn leI vrqI   
     jWdI  hY? 

       a) joVn         A) qoVn   
       e) syv       s) koeI nhIN                          1              

(v) PMkSn( Function) iv`c mu`FlI fwtw twiep kI huMdI hY? 
           a) Void        A) int  
         e) Float                       s) Char                         1        

    (vi) lIifMg (Leading) dw mqlb hY _____  
         a) do lweInW ivckwr dUrI       A) do pyzw ivclI dUrI   
         e) do tyblz ivckwr dUrI     s) do A`KrW ivckwr dUrI       1 

                 
pRSn: 2 KwlI QwvW Bro:           6 X 1 = 6 

   (i) strcpy,  stirMgz (string) ਨੰੂ  ______ ਲਈ  vriqAw jWdw hY[   1 
   (ii) AYPIfYivt dI qurMq qsdIk ____ sYNtr iv`c ho skdI hY[   1 
   (iii)_____ tYkst dI s`jy Aqy K`by,aupr Aqy hyTW dI dUrI nUM ikhw jWdw hY[  1 
   (iv) PMkSn ifklyArySn ____ nwl Kqm huMdI hY[     1 
   (v) ie`k v`fI vIifE PweIl dy Coty Bwg nUM____ ikhw jWdw hY?   1 
   (vi) ______ auh ifvwies hY jo tYlIPon lweInW rwhIN do kMipaUtrW nUM joVdw hY[ 1 
 

pRSn: 3   shI  /  glq ਦੱਸੋ:                 6 X 1 = 6 
   (i) MAN nY`tvrk auh hn, jo iek Sihr iv`c PYly huMdy hn [      1 



   (ii) e-governance suivDwvW hwisl krn leI kMipaUtr dI vrqoN nhIN kIqI jWdI[    1 
   (iii) pyz lyAwaUt(Page Layout) dw kMm hY,EbjYkts nUM lVIb`D qrIky nwl r`Kxw[     1 
   (iv) KwlI stirMg dI lMbweI 1 huMdI hY[        1 
   (v) PMkSn ( Function) dI ifklyArySn , (Comma) nwl Kqm huMdI hY?    1 
   (vi) kolYkSn pyn (Collection Pane) iv`c AsI kyvl vIifE kilp hI r`K skdy hW[  1 
 

Bwg –A  
 S'N/ T[ZsoK tkb/ gqPB (jo/e gqPB d/ uko^uko  nze jB)          4 X5 = 20 
  pRSn:4 stirMg kI huMਦੀ hY?  

         jW  
   KwlI icMnH dw kI mMqv hY?        4 

  pRSn:5 PMkSnW dI vrqoN dy lwB d`so[       4 
  pRSn:6 ivfoz mUvI mykr swPtvyAr dy aupXog ilKo[ 
                 jW 
           kil`p Aqy vIifE iv`c AMqr ilKo[      4 
  pRSn:7. nYtvrk kI hY? nY`tvrk topolojI kI hY?      4 
  pRSn:8. JIT qoN qusIN kI smJdy ho?        4 
 

Bwg –e 
tZv/ T[ZsoK tkb/ gqPB (jo/e gqPB d/ S/^S/ nze jB)                     2 X 6 =  12 
pRSn:9 nY`tvrk dI loV ikauN pYNdI hY?  
               jW  
         fwtw vMf nUM nYtvrikMg dw mh`qvpUrn pRXog ikauN mMinAw jWdw hY?   6 
pRSn:10 eI gvrnYNs dw kI mh`qv hY?  
                 jW  
        AweI -itkitMg Aqy eI-itkitMg iv`c AMqr d`so[                                  6 
 
 
 
 
 

 
 
 
 
 
  
 
  
 
 

 


